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4 (24 25 M 1934 1964 30 24 Hmyenxo H. TT M 1934
5 24 34 M 1934 1955 21 25 Hmyenxo IT. 1. M 1964
6 |25 26 M 1964 1985 21 26 Hmsaesxo IT. TL M 1985
7 |28 4 M 1964 1984 20 34 Jlecko A. ML K 1955
g (34 35 W 1955 1978 23 35 Jlecko B. C. X 1978
g |34 46 W 1955 1980 25 36 JTecko C. C. M 1955
10 |36 35 M 1955 1978 23 44 Jeoserxo A. C K 1932
11 |36 46 M 1955 1980 25 45 Jleonemxo B. A. M 1944
12 |44 25 W 1932 1964 32 46 Makaperxo 0. C A 1980
13 |44 34 W 1932 1955 23 47 Makapeso IT. O. M 2000
14 (64 26 W 1955 1985 30 54 Kmuxo A TT K 1984
15 |64 34 W 1955 1984 29 64 Memrep IT. A. A 1955
16
A B . ¥ E F
1 |Tabmamma 2
Tom Tom
ID_Po, Bospact
E.l'lﬂ_ o ID Pebenka ITon PO PO
2 E E @ ponmjz‘ neﬁﬂm pom@
3 |14 36 W 1933 1955 22
g |34 35 W 1955 1978 23
9 |34 46 W 1955 1980 25
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begin
for 1:=! to 5! do begin
n:=1y
a:=1;
while = < 51 do
begin
s i= 3 + 5;
n:=n*2
end;
if n=cd then break;
end;
writeln(i)
end.
<
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4 A ‘ B | ¢ | b | E | F J G [ | H

1 ®amunus Uma Anrebpa Pycckuin ®usmka Mmbopma'ruxa\eyw‘ L

2 |ABanonbHukos Poman - 3 5 3 15

3 |Abpamos Kupunn 2 3 3 4 12

4 | ABLOHWH Hukonait 4 3 4 3 14

5 |AsepbsHoB Hukuta 4 4 5 3 16

6 AsetucsH DOanuun 2 4 3 4 13

7 | AspameHko Anexceit 3 4 3 3 13

8 |Asxaues KoHcTaHTMH 2 3 5 3 13

9 |Arapkosa Onecs 3 3 3 3 12

10 AraxaHosa Onbra 3 5 4 4 16

11 |ArasH Oasug 3 4 3 3 13
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function F( n: integer ): integer;
begin
if n = 0 then begin
F o= 0;
Exit;
end;
if (n > 0) then
if (n mod 5) = 0 then
F :=n + F(n-5)
else
F := (nmod 2) 4+ F(n-2):
end;
begin
writeln( F(79) )

end.
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var
i,minznach: integer;

kol: integer:
begin
kol:=0;
for 1:=20000000000 to 40000000000 do begin
if (imod 2 = 0) and (i mod 1! <> 0) and (i mod 13 <> ()then begin
kol:=kol+l;
if kol = 1 then minznach:=i;
end;

end;
writeln(kol):
writeln(minznach):

end.

<
88847781

7

r1474836477




var

<

kol:
begin
kol:=0;
for i:=200000 to 400000 do begin
if (imod 2 = 0) and (i mod !l <> 0) and (i mod 13 <> 0)then begin
kol:=kol+1l:

i,minznach: integer;
integer;

if kol = 1 then minznach:=i;

end;
end;
writeln(kol):
writeln(minznach):;
end.|

55944
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=OCTAT(A1;2)

y AN IS F O |

1| 8738 % 0  8738¢+— =Al

2 7497 1 0+ =EC/IN(B2=0;C1+A2;0)

3| 3960 0 3960

4 2512 0 6472

5 | 240 0 6712

6 9335 1 0

7| 7447 1 0

8| 8738 0 8738

9 7497 1 0

10 3085 1 0

11 | 6 0 6

12| 9945 1 0

497 9917 1 0

498 2 0 2

499 3620 0 0

500 9655 1 0

501 =MAKC(C1:C500)




Ne 19-21

var x, Yy, i t integer;

function winpos{ a: integer; b: integer ): booleans

begin

i€ (a+b < 63) and ((a+l+b >= ©3) or (a+bh+l >= €3) or (2*a + b >= £3) or (a + 2*b >= &3))
then winpoa := true

else winpos := false;

end:

function losspos({ a: integer: b: intsger ): bool=ans
if not winpos{a,b) and (winpos(a+l, b) and winpou(a, b+l) and winpon{Z*a, b) and winpos{a,2*h))

then losspos = true
else losspos := false;

end;
|
function prelcaspos{ a: integers b: integer |): boolean;

begin

if not winpos(a,b) and (losspos{atl, b) or losspos(s, b+l) or losspos(2*a, b) or losspos(a,2*b))
then prelosspos := true

else| prolosspos := false;

l-ndi
begin
X1=57
|/ /Sanaune 19
for i:= 1 to 57 do
if winpoa{x+l , i) or winpos{x , i+l) or winpoa{2*x , i) or winpos(x , 2*i)
then i
writeln('12. s = ',i);
break;
end;

//Sanaume 20
for i:= 1 to 57 do
if losspos(x+l , i) or 1losspos(x , i+l) or losspos(2*x , i) or losspos(x , 2*i)
then writeln('20. s = ',i);

//Sananme 21
for i:= | to 57 do
if (winpos(x+l , 1) or prelosspos{x+l , i)) and
(winpos(x , i+l) or prelosspos(x , i+l)) and
(winpos(2*x , i) or prelosspos(2*x , i)) and
(winpos(x , 2*i) or prelosspos(x , 2*1i))
then writeln('2l. s = ',i);

19, 8 = 15
20, a = 26
20, 3 = 28
21, s =25
21, = = 27
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_—Tfun-ct.ton F1({ n: integer ): integer:

begin
if n - 1 then begin
Fl := 1;
end;

if (n > 1) then begin
if (nmod 2 <> 0) and (n mod 3 <> 0) then Fl:= Fl(n-1);
if (nmod 2 <> 0) and (nmod 3 = 0) then Fli:= Fl(n-1)+Fl(n div 3);
if (nmod 2 = 0) and (n mod 3 <> () then Fl:= Fl(n-1)+Fl(n div 2);
if (nmod 2 = 0) and (nmod 3 = 0) then Fl:= Fl(n-1)+Fl(n div 2)+Fl(n div 3);
end;
end;

!ﬁmction F2( n: integer ): integer:

:I.ngin
if n = |4 then begin
F2 := 1;
end;
if (n < 14) oxr (n = 16) then
F2 := 0:
if (n > 14) and (n <> |6) then begin
if (nmod 2 <> 0) and (n mod ¥ <> 0) then F2:= F2(n-1);
if (nmod 2 <> 0) and (n mod 2 = 0) then F2:= FZ(n-1)+F2(n div 3);
if (nmod 2 = 0) and (n mod 3 <> 0) then F2:= F2(n-1)+F2(n div 2);
if (nmod 2 = 0) and (n mod 3 = 0) then F2:= F2(n-1)+F2(n div 2)+F2(n div 3):
end;

begin
Ln writeln( F1(14)*F2(50) )
d.
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var i, maxa,na, k: integer;

cl: char;
f: text:
a : array(D..30] of integer:
begin
assign(f, 'C:\24.txt'");
reset (f);
for i:=1 to 30 do
afi]:=0;

while not Eof (f) do begin
read (f,cl):
k:=ord(cl)-ord('A'):
alk]l:=alk]l+1;
end;
maxa:=0;
for i:=0 to 30 do begin
/| writeln (char (ord('A')+i)," ',afi])z
if a[i) > maxa then begin
maxa:= af[i];
na:=i;
end;
end;
writeln(char(ord('A')+na)):

pnd.
<L
W
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par
kol: integer;
begin
for var i := 120080 to 120400 do begin
kol := 0;
for var j := 3 to i-1 do begin
if (jmod 2 = 1) and (i mod j = 0) then begin
kol := kol + 1:
if kol > 23 then break:
end;
end;
if (kol = 22) oxr (kol = 23) then writeln(i):
end;

end.
< .
120099 -
1201058
120150
120175
120225
120267
120330
120375
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382 9 1844

383 9 1853

384 9 1862

385 9 1871

386 9 1880

387| 9 1889

388| 9 1898

389 9 1907

390 9 1916

391 9 1925

392 9 1934

393 9 1943

394 9 1952

395 9 1961 | =B396+A397

39 9 1970 /

397 9 1979 | 8]

398 9 1988 \
9 2 =1987-B397
Ne 27

var

X, y: integer;
n: integer;
sum: integer;
delta: integer;
f: text;
begin
assign(f, 'C:\27-B.txt"')s
reset (£);
readln(f, n)z
sum := 0;
delta := 10001;
while not =cf (f) do begin
readln(f, %, y):
if %z > y then
sum := sSum + X
else
sum = sum + yJ
if ({aba(x - y) < delta) and (ab=z(x-y) mod 9 <> 0) then delta := abs(x-y):
end;
if sum mod 9 <> 0 then
writeln{sum)
else
if delta < 10001 then
writeln({=um - delta)
else
writeln('raxoit cyms: s#e cymecTey=aT');

Fud.
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